TR 16 E

B LTI DK,
S J =1 FEIERY gy
5 2 BixiE - COD#E! |AGG#HBIR) %iégufgéﬁﬁ
St.1 ER- BB I EHYR) RAEKEREEE (=)
—iRIEE _
Kig (°C)
Xz [KiE(°C) =RE P E 2KE il iR =Xz R
58] BEh 21.5 21.4 - 7.0 2.0 BE ZE-mh mR
78] ®Bh 31.2 275 — 6.5 2.0 BE BEfkf-h| &S
98 £ 29.0 27.9 — 7.0 4.0 BE xEfR-p| &S
112 —esEn] 228 21.0 - 7.0 3.0 BE BEikf-p| &SR
18] Bh 12.0 15.3 - 6.5 6.0 BE ZkE-mh mR
3A|EhEEEY| 104 12.3 — 8.0 7.0 BE 5.0 mR
4FRRIFIER
oH DO COD |XBEHHE |h-~FHUH 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EEME| 78~83] 755 F | 20LLF | 1000LLF | JEEH 0.3LLF | 0.03LLF
EHIE(75%1E) - 7.5 2.2(2.3) - <0.5 0.32 0.025
55 == 8.2 8.9 3.6 - <0.5 0.77 0.035
hE - - - - - - -
78 EAE 8.2 6.7 2.2 - <0.5 0.13 0.018
= 8.1 6.4 2.1 - <0.5 - -
118 EAC 8.2 7.5 2.1 - <0.5 0.23 0.027
hE - - - - - - -
1A EAE 8.2 7.8 1.1 - <0.5 0.14 0.021
= 8.0 7.9 2.3 - <0.5 - -
38 T = = = — = — —
BEIEE (REDHEHAD
NP INES S o) ANEivoL| #ME #ikéE |[FrxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| Z#EfE] 0.01LLF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | JE#EH JERH |
:F _ _ — — — — — —
58 - - - - - - - -
71H - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
oani| migke [1,2-0900( 1,1-C4on [ z-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IRy IFLY |BoaIFLy (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006LLF [ 0.03LL'F
S'Z - - - - - - - -
58 - - - - - - - -
71H - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -




Fh34900|1,3-4-0 = . N ~ TN .
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF [ 0.006 LF [ 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
SF — — — — — — — —
5H - - - - - - - -
18 - - - - - - - -
9H - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
3H - - - — — — - -
ZTDHIEE
Jx/—)L V) SS 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
=RE - - 5 - - -
L - i - : :
=] _ _ 1 _ _ _
R o ; - : :
=] _ _ 2 _ _ _
o i - : :
=] _ _ 1 _ _ _
— : - : :
=] _ _ 3 _ _ _
| A ; - : :
=] _ _ 2 _ _ _
3H g — — = - — —
Bl | BEEE | omen
(mg/1) (mg/1) (mg/1)
FEHIE| 16000 - 0.02
58 E3E] 10000 - 0.02
e I :
B | 17000 - -
B | 15000 - -
E | 16000 - 0.02
B | 18000 - -
8 | 17000 - -
3H g = — -



TR 16 E

B L CIEHKE,
S J #H FEIERY gy
5 B - COD#EH! |A(H#EH) %iggufgéﬁg
St.2 EFR-BEE I @R) FRKEREEE (=)
—RIEE _
KR (°C)
Xz %R (°C) =E e 2KE 75 B FE TR =X 2=
58] BEh 21.4 22.3 — 8.5 2.5 BE ZE-mh mR
78] ®Bh 30.7 27.0 — 7.0 6.5 BE k- &R
98 £ 29.0 27.2 — 10.0 5.5 BE xE-h |
11AlEE—eEn] 229 21.2 - 9.0 4.0 BE BEikf-p| &SR
18 BEh 11.8 15.8 — 11.0 9.0 BE xE-h mR
3A|EnkEEY| 099 12.2 N 11.5 10.0 BE 5.0 mR
4FRRIFIER
oH DO COD |XBEHE |h-~FHUH 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
RENE| 1.8~83] 15LLE | 20LLF | 1000BLTF | JERH 0.3LLF | 0.03LLF
EE(75%1E) - 8.0 1.6(2.4) 0.0 <0.5 0.18 0.013
58 == 8.2 9.0 2.8 - <05 0.43 0.023
hE - - - - - - -
78 == 8.3 7.1 1.7 0.0 <0.5 0.06 0.005
= 8.2 7.3 1.0 - <0.5 - -
SR hE - - - - - - -
115 == 8.3 8.7 2.4 - <0.5 0.08 0.010
hE - - - - - - -
1A == 8.2 7.7 0.9 0.0 <0.5 0.13 0.015
= 8.1 8.0 0.9 - <0.5 - -
38 i = = = — — — —
BEIEE (REDHEHAD
IS INESS S & NE/RL| #MFE fikER |7r*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
E <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
58 - - - - - - - -
78] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
onni| mige [1,2-0900( 1,1-C4on [ z-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IRy IFLY | AaxTFLY (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




FhS00(1,3-40 — N FAAY N R
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF | 0.006 LF [ 0.003LLF | 0.02L8LF | 0.01LLF 0.01LLF 10ELF
oo <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.05
5H - - - - - - - -
78 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.02
9H - - - - - - - -
118 - - - - - - - -
18 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.07
3H - - — — — - - -
ZTNDIEE
Jx/—)L V) SS 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
=RE - - 5 - - -
=] - - <1 - - -
=] _ _ 2 _ _ _
=] _ _ 1 _ _ _
=] _ _ 2 _ _ _
=] _ _ 1 _ _ _
Sl - - ! - - -
(4] BN . .
(mg/1) (mg/1) (mg/1)
EBIE|] 18000 0.02 <0.01
58 E3E] 16000 - <0.01
= 18000 <0.01 -
7R ; E — — —
= 18000 - -
9AH ; E — — —
= 18000 - <0.01
118 th — — —
18 RE 18000 0.02 -
= 19000 - -
3H B 0 - -




TR 16 E

B L CIEHKE,
S J # 5 FEIERY i
5 2 BixiE - COD#E! |A(E#ER) %iégumgéﬁﬁ
St.3 EFR-BEE I @R) REKEREEE (=)
—RIEE _
Kig (°C)
Xz %R (°C) =E e 2KE 75 B FE TR =X 2=
58] BEh 21.2 22.1 - 18.0 7.5 BE k- &S
78] ®Bh 30.8 27.5 — 8.0 35 BE BEikf-h| &S
98 £l 28.2 27.0 — 16.0 7.0 BE e mR
11BEE—esEn] 228 21.1 - 18.0 4.0 BE k- &R
18 BEh 11.4 16.2 — 16.0 10.5 BE xE-h mR
3AlENKEREY] 9.1 12.0 - 20.0 13.0 BE -0 mE
4FRIFIER
oH DO COD |XBEHHE |h-~FH UM 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
= &[] 7.8~83] 75LLE | 20LLF | 100051 F | JEMRiH 0.3LLF | 0.03LLF
EE(75%1E) - 7.9 1.5(1.7) 250 <0.5 0.13 0.012
58 == 8.2 8.2 2.1 - <05 0.17 0.009
hE - - - - - - -
78 == 8.2 75 1.7 490 <0.5 0.11 0.011
;E é I 1] - 6 - -
= . 75 . - 5 - -
SR hE - - - - - - -
118 == 8.2 8.5 1.7 - <0.5 0.10 0.007
hE - - - - - - -
1A == 8.2 7.4 1.3 0.0 <0.5 0.14 0.020
;E & & dé - 6 - -
= . . . - 5 - -
38 A - - = — — — —
BEIEE (REDHEHAD
NP INESS S E YN[ 7= VN IR £ fikéR |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
E <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
58 - - - - - - - -
78] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
yani| migke [1,2-0900( 1,1-C4an [ zx-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | FJoAA
a2 o IRy IFLY | AaxTFLY oT4ay oT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




Tr>980(1,3-5n = . sea FARY TN .

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF | 0.006 LF [ 0.003LLF | 0.02L8LF | 0.01LLF 0.01LLF 10ELF
oo <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.04

5H - - - - - - - -
78 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.02
9H - - - - - - - -
118 - - - - - - - -
18 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.06
3H - - - = — — - -
ZTDHIEE
Jx/—)L V) SS 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
RE - - 2 - - -
=] _ _ 2 _ _ _
=] - - <1 - - -
L e — : - - :
=] - - <1 - - -
=] _ _ 3 _ _ _
=] _ _ 2 _ _ _
Ll - - : - - -
EED EIEEY . .
(mg/1) (mg/1) (mg/1)
EBIE|_18000 0.02 <0.01
58 E3E] 19000 - <0.01
= 17000 <0.01 -
7R ; E — — —
= 18000 - -
= 18000 - <0.01
118 th — — —
18 RE 18000 0.02 -
= 18000 - -
3H B 0 - -




TR 16 E

B L CIE DK,
5 2 B - CODEHE |A(##Bh =) FHERERVHERBRZEEE
St.4 EFR-BEE I @R) RFRKEREEE (=)
—RIEE _
KR (°C)
Xz %R (°C) =E e 2KE 75 B FE TR =X 2=
58 BEh 21.3 21.8 — 16.0 6.5 BE k- &S
78 BEh 30.6 275 — 10.5 8.5 BE k| &S
98 £ 28.0 26.9 — 16.0 8.0 BE e |
11AlEE—esEn] 230 21.6 - 15.0 4.5 BE k- &R
18 BEh 11.9 16.2 — 15.0 9.0 BE xE-h mR
3A|ENLEEY| 8.6 12.3 - 18.0 10.5 BE -0 mE
4FRIFIER
oH DO COD |XBEHE |h-~FHUH 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EE(E]| 78~83] 75LF | 20LF | 1000LLF | JEEH 0.3LLF | 0.03LLF
EE(75%1E) - 7.8 1.6(2.1) = <0.5 0.11 0.009
58 == 8.2 8.6 25 - <05 0.15 0.008
hE - - - - - - -
78 == 8.2 7.0 1.9 - <0.5 0.07 0.006
= 8.2 7.4 1.2 - <0.5 - -
118 == 8.2 8.2 2.1 - <0.5 0.07 0.007
hE - - - - - - -
1A == 8.2 7.4 0.7 - <0.5 0.13 0.015
= 8.1 8.2 0.9 - <0.5 - -
3R i = = = — = — —
BEIEE (REDHEHAD
NP INESS S ) ANfivoL| ®ME #ixksE [7rxrLkéR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
:F _ _ — — — — — —
58 - - - - - - - -
78 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
3R - - - - - - - -
oOni| migke [1,2-0900( 1,1-C4an [ z-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a o IRy IFLY |BoaIFLy (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LF 0.006LLF | 0.03LLF
S'Z - - - - - - - -
58 - - - - - - - -
78 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
3R - - - - - - - -




Tr>980(1,3-5n = PN ~l TN .

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
[ZE#{E] 0.01LLT [000261F | 0.0065LF | 0.003ELF | 0.02BF | 0.01BAF [ 001 | 10KF
SF — — — — — — — —

58 - - - - - - - -
18 - - - - - - - -
9A8 - - - - - - - -
1Al - - - = - - - -
1Al - - - - - - - -
38 - - - - - - - -
EDHIEE
Jz/—L|  fA ss 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
RE - - 3 - - -
e e s et s
=] _ — 1 — — —
e L e e e e s e
=] _ — 1 — — —
S e s et s
=] _ — 1 — — —
P - e e e s
=] _ — 3 — — —
1 e e e s
=] _ — 2 — — —
3R g — — = — — —
Bl | BEEE | omen
(mg/1) (mg/1) (mg/1)
ESTE] 18000 - <0.01
5H &BE | 19000 - <001
B | 18000 - -
B | 18000 - -
B | 18000 - <001
B | 18000 - -
B | 19000 - -
3R i — — —




TR 16 E

B L CIEHKE,
S J #H FEIERY i
5 B - COD#EH! |A(H#EH) %iégufgéﬁﬁ
St5 EFR-BEE I @R) RFRKEREEE (=)
—RIEE _
K& (°C)
Xz %R (°C) =E e 2KE 75 B FE TR =X 2=
58 BEh 21.1 21.7 — 17.5 8.5 BE k- &S
78] ®Bh 30.5 27.0 — 9.5 8.5 BE k| &S
98 £ 27.0 26.3 — 11.0 6.0 BE e |
112 —esEn] 232 21.5 - 11.0 5.5 BE k- &R
18 BEh 11.9 16.4 — 11.0 8.5 BE xE-h mR
3A|EnkEEY| 88 12.0 N 18.0 13.0 BE 5.0 mR
4FRIFIER
oH DO COD |XBEHE |h-~FHUH 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
= &[] 7.8~83] 75LLE | 20LLF | 100051 F | JEMRiH 0.3LLF | 0.03LLF
EE(75%1E) - 7.4 1.6(2.0) 0.0 <0.5 0.11 0.010
58 == 8.2 8.0 2.0 - <05 0.13 0.008
hE - - - - - - -
78 == 8.2 6.9 1.2 0.0 <0.5 0.12 0.011
= 8.1 6.6 2.7 - <0.5 - -
SR hE - - - - - - -
118 == 8.3 8.0 1.3 - <0.5 0.08 0.004
hE - - - - - - -
1A == 8.2 7.3 1.1 0.0 <0.5 0.10 0.017
= 8.1 7.6 1.3 - <0.5 - -
38 i = = = — — — —
BERIEE (REDHEHAD
IS INESS S & NE/RL| #MFE fikER |7r*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
E <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
58 - - - - - - - -
78] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
ynni| migke [1,2-0900( 1,1-C4an [ zx-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a o IRy IFLY | BoRIFLy (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




FhS00(1,3-40 — N FAAY N R
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF | 0.006 LF [ 0.003LLF | 0.02L8LF | 0.01LLF 0.01LLF 10ELF
oo <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.04
sA[ - - - - - - - -
78 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.02
9H - - - - - - - -
118 - - - - - - - -
18 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.06
3H - - — — — - - -
ZTDHIEE
Ix/—) & SS 2@ |yookiLL 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - - 2 - - -
RE - - 2 - - -
=] _ _ 2 _ _ _
=] - - <1 - - -
i —— 2 : : -
=] _ _ 2 _ _ _
= - - 4 - - -
=] - - <1 - - -
Ll - - . - - -
(4] BN . .
(mg/1) (mg/1) (mg/1)
EBIE|] 18000 0.02 <0.01
58 E3E] 19000 - <0.01
= 18000 <0.01 -
7R ; E — — —
= 17000 - -
= 18000 - <0.01
118 th — — —
18 RE 19000 0.02 -
= 19000 - -
3H B 0 - -




TR 16 E

B L CIEH KB,
S J =1 FHEIERY Limis
5 g 33t — COD#FEH! Mﬁ@ ) %iégufgéﬁﬁ
St.6 [ER-SEY I (EEL) RAEKEREEE (=)
—RIEE _
Kig (°C)
Xz %R (°C) =RE P E 2KE il iR =Xz R
58] BEh 21.0 21.6 - 25.5 6.5 BE - mR
78 Bh 28.6 26.0 — 29.0 10.0 BE k- &R
98 £ 28.0 26.5 — 28.0 5.0 BE ZE-mh mR
11AlEE—esEn] 230 21.8 - 27.0 6.0 BE k- &R
18] Bh 11.2 16.8 - 30.0 8.5 BE ZkE-mh mR
3A|EnkEEY| 099 12.5 N 25.0 12.0 BE 5.0 mR
4FRRIFIER
oH DO COD |XBEHE |h-~FHUH 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EEME| 78~83] 755 F | 20LLF | 1000LLF | JEEH 0.3LLF | 0.03LLF
EHIE(75%1E) - 7.5 1.5(2.0) - <0.5 0.15 0.012
55 == 8.2 7.9 2.2 - <0.5 0.16 0.008
hE - - - - - - -
78 EAC 8.2 7.1 1.3 - <0.5 0.02 0.004
hE - - - - - - -
of EAE 8.2 7.9 15 - <0.5 0.20 0.017
hE - - - - - - -
115 == 8.3 8.0 2.0 - <0.5 0.06 0.012
B - - - - - - -
1A EAC] 8.2 7.1 1.0 - <0.5 0.12 0.019
hE - - - - - - -
3H EAC] 8.1 7 0.8 - <0.5 0.36 0.013
P E - - - - - - -
BEIEE (REDHEHAD
NP INESI S R ANEivoL| #MER #ikeE |7rxLkiE| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| Z#EfE] 0.01LLF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | JE#EH JERH |
:F _ _ — — — — — —
58 - - - - - - - -
71H - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
ynni| migke [1,2-0900( 1,1-C4on [ zx-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IRy IFLY | AaxTFLY (= ok 3 ox4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006LLF [ 0.03LL'F
S'Z - - - - - - - -
58 - - - - - - - -
71H - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -




Fh34900|1,3-4-0 = . aoo ~ TN .
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
[ Z#TE| 0.01LITF 0002 F | 0.006LLF [ 0.003BTF | 0.02B1F | 0.01BLF | 001BLF [ 10LLF
SF — — — — — — — —
5H - - - - - - - -
18 - - - - - - - -
9H - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
3H - - - — — — - -
ZTDHIEE
Jz/— A SS 2B |(sookL 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
RE - - 3 - - -
L - ; : : :
=] _ _ 2 _ _ _
R o i : : :
=] _ _ 1 _ _ _
o i : : :
=] _ _ 1 _ _ _
— ; : : :
= - - 4 - - -
1A i : : :
=] — — 1 — — _
3H g — — — - - —
Bl | BEEE | omen
(mg/1) (mg/1) (mg/1)
FEH)E| 18000 - <0.01
58 E3E] 19000 - <0.01
= 18000 - -
7R ; E — — —
= 17000 - -
= 18000 - <0.01
118 ;E — — —
= 18000 - -
= 19000 - -
3H g ~ — -




